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B.2¢/2 + % _ sin~! (5)
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D. none of these

Answer: B

O da &

7. The area between the curve y = 2z* — 22
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https://dl.doubtnut.com/l/_AcTyS4Iz5mdx
https://dl.doubtnut.com/l/_3UxivwbuWls5

contained bythe double ordinate and its

distance from the vertex. The value of k is

>

W~ N|w w|N

o
w

Answer: A

O S s &



https://dl.doubtnut.com/l/_3UxivwbuWls5

9. The area fo the region bounded by the
parabola y = z® 4+ 1 and the straight line x +
y =3, is given by

A.45/7

B. 25/7

C.mw/18

D.9/2

Answer: D

O A&



https://dl.doubtnut.com/l/_0c21iHaTJikv

10. The area bounded by the curve x + |y| = 1

and x axis is

A2

B.1

wW| =

Answer: B

O A&



https://dl.doubtnut.com/l/_Ei3KbcGQYUpN
https://dl.doubtnut.com/l/_JJMCKn5lQFDI

NIBIART Ty =923z =1,z = 43R
y = 0 9gel IqUferd g|

O A&

12. The area of the region bounded by the
curvey = ¢ — x> between x=1and x=0 s
A.1/6
B.5/6
C.1/3

D.1/2


https://dl.doubtnut.com/l/_JJMCKn5lQFDI
https://dl.doubtnut.com/l/_B6e9Qs4aP9wf

Answer: A

O dfa &

13. Area  bounded by

zy® = a’(a — ) and y-axis is

A.ma® /2

B. 7ra2

C.2mwa’?

D. 37a’

the

curve


https://dl.doubtnut.com/l/_B6e9Qs4aP9wf
https://dl.doubtnut.com/l/_PMDXvqiRqEUC

Answer: B

O drdisw @

14. Area bounded by the curve
y2(2a —x) = 2 and the line x = 2a is
A.3ma’ /4
B. 3ma” /2
C. 3ma”

D. none of these


https://dl.doubtnut.com/l/_PMDXvqiRqEUC
https://dl.doubtnut.com/l/_4CWlScBoTBLg

Answer: C

O dfa &

15. 96 I fiRT 89 y = 22 — z° 3R Meht
y= —z&

A.35/6

B. 43/6

C.9/2

D. 11/2


https://dl.doubtnut.com/l/_4CWlScBoTBLg
https://dl.doubtnut.com/l/_LyXJZvVOqAGM

Answer: C

O dfa &

16. The area enclosed between the curve

y2 = 4z and the liney=x s

O S &

17. The area bounded by the curve y* = 2 and

y = |x| in first quadrants is....


https://dl.doubtnut.com/l/_LyXJZvVOqAGM
https://dl.doubtnut.com/l/_STkt2tFB3MkJ
https://dl.doubtnut.com/l/_49ppVbuE7xWx

Answer: D

O S &

18. The area bounded by the curve y = cos x

) ™
and x-axis between x=0 and z = E IS ...


https://dl.doubtnut.com/l/_49ppVbuE7xWx
https://dl.doubtnut.com/l/_kFZ8VCGzD0Sd

B.1

Answer: B

O S &

19. a6 I fOR1T &FBa y=3z+2 3R

= —1,x=1..


https://dl.doubtnut.com/l/_kFZ8VCGzD0Sd
https://dl.doubtnut.com/l/_QTb8qWCKke9N

Answer: B

O S &

20. The area bounded by the curve y = €7, x-

axis and ordinates x=0and x=11s ..


https://dl.doubtnut.com/l/_QTb8qWCKke9N
https://dl.doubtnut.com/l/_To3bzh9n56sA

B.e -l

C.e+1

D.el +1

Answer: B

O S &

21. The area enclosed by the curve y* = 4z

and the liney=xs....


https://dl.doubtnut.com/l/_To3bzh9n56sA
https://dl.doubtnut.com/l/_RpIWs3k5COZD

w| oo

N

v
wl| o 30 —
| °°|w °°|®

Answer: A

O S &



https://dl.doubtnut.com/l/_RpIWs3k5COZD

